gcf g JSOV XM/ YAML( YM.) / TOM./ | NI / PROPERTI ES
Content Menu

tom /yam /ym /json/ini/xm/propertiesconfig.tom/yam/ym/json/ini/xmn
[ properties

Set Fi | eNanedef aul t. yam ,defaul t.json, defaul t.xm def aul t. yan dat abase

/1 defaul t.yam
g. Cfg(). Get Adapter().(*gcfg. AdapterFile). SetFil eName("defaul t.yam ")

/1 defaul t.yam
g.Cfg().Get(ctx, "database")

@)

1. SetFi |l eNamre
2. -gf.gcfg.file
3. -GF_GCFG_ FI LE

nmai n(Li nux)

1
g.Cfg(). Get Adapter().(*gcfg. AdapterFile). SetFil eName("defaul t.yam ")
2
./main --gf.gcfg.file
3
L]
./ main
® genv
genv

gcf gSet Pat hAddPat h

gcfg

1. confi gmani f est/ confi g/ home/ www
a. / honme/ www
b. / home/ ww/ confi g
C. / home/ ww/ mani fest/config



2. configmanifest/config/tnp
a. /tnp
b. /tp/ config
C. /tnp/ manifest/config
3. mai nconfi gmani f est/ confi g()mai n/ hone/j ohn/ wor kspace/ gf - app
a. / hone/ j ohn/ wor kspace/ gf - app
b. / hone/j ohn/ wor kspace/ gf - app/ confi g
C. / hore/ j ohn/ wor kspace/ gf - app/ mani fest/config

1. Set Pat h

2, -gf.gcfg.path

3. - GF_GCFG_PATH
mai n(Linux)

1.

g. Cfg(). Get Adapter().(*gcfg. AdapterFile). SetPath("/opt/config")

2.
./main --gf.gcfg.path /opt/config/
3.
.
GF_GCFG_PATH /opt/config/ ./main
® genv
genv
gcfg

func (c *AdapterFile) SetContent(content string, file ...string)
func (c *AdapterFile) CetContent(file ...string) string

func (c *AdapterFile) RenoveContent(file ...string)

func (c *AdapterFile) C earContent()

Set Content("v = 1", "config.ton ")config.tonl config.tonl Set Content

gcf g. pattern -gjson patternconfig.yan

server:
addr ess: ":8199"
serverRoot: "resource/public"

dat abase:
defaul t:
i nk: "nmysql : root: 12345678@ cp(127.0.0. 1: 3306) / f ocus”
debug: true


https://goframe.org/pages/viewpage.action?pageId=1114881

/1 :8199
g.Cfg(). Get(ctx, "server.address")

Il true
g.Cfg(). Get(ctx, "database.default.debug")

Gol angnmap/ sl i ce™” /gcfgmap/slicegcfg

/1 config.json:
“{"map":{"key":"value"}, "slice":[59,90]}"

var ctx = gctx. New()

m:= g.Cfg(). Must Get (ctx, "map").Mp()
fm.Printin(m

/1 Change the key-val ue pair.
nl "key"] = "john"

/1 1t changes the underlying key-val ue pair.
fm.Println(g.Cfg(). MustGet(ctx, "map").Mp())

s := g.Cfg(). MustGet (ctx, "slice").Slice()
fnt.Println(s)

/1 Change the val ue of specified index.
s[0] = 100

/1 It changes the underlying slice.
fm.Println(g.Cfg(). MustGet(ctx, "slice").Slice())

// output:

/1 map[ key: val ue]
/1 map[ key: j ohn]
/1 [59 90]

// [100 90]



	配置管理-文件配置

